


What is angle between minute
hand and hour hand at 2:20?

2:20 R e &I g3 3R 9 ot 93

@ §rd BT DIV T BT ?
GoH-11M] } (a) 105° (b) 35°
E ) 50° (d) 720°
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Statement 1: Bihar government on
Wednesday launched an Ambitious
Program to Provide free wifi
facilities in colleges and
universities.

Statement 2: Free wifi facility on
colleges to help youths to make
ahead in life and to become digital
smart as internet had become a
part and parcel of daily life of
youth, particularly students
should wuse this facility to
download books.

Y9 1: fI8R WHR 9 FEAR Bl
dictoll 3R fa=afdereal # qud asHrs
GG JeE %1 @ ol U Ascardie
ST PO fhar |




HYF 2: AR DI SgT H M qG4
IR f3fSrea W a1 # Weg A B
forg icral # qud a9®rg giaem, Fifs
sex-ic gapll & afie Sfles &1 U@
e a1 T 8, @reR Bl @ fhard
SRde 1 @ fag g9 gfem &
SYART ST =91f2Y |

(a) Statement 1 is cause and
Statement 2 is its effect

\y&tement 2 is the cause and
S

tatement 1 is its effect
(c) if Both the Statement (I) and
(II) are independent causes
(d) If both the Statement (I) and
(II) are effects of independent
causes




Ten friends M, N, O, P, Q, R, S, T,
U, V sit in a straight line. Four of
them face south and remaining six
face north. Any of the two friends
who face south is Neither
Immediate Neighbour of each
other nor sits at any extreme ends
of the line. M sits fourth to the
right of S and fourth to the right of
N. S sits on Immediate left of O. T
sits adjacent to V and U, and Both
of them face South. P sits second
to the left of R, U and P are not

Inmzﬁa:mmhhnnﬁ.af.ﬂ, Q and

R face the same direction.

How many person sit between V
and R?



9 A3 M,N,0,P,Q,R,S, T, U, V
UH A @ # 90 | 99H 9 AR BT
H@ TROT B AR B 3R A9 BT & 49
IR DI AR B QA A= H F Dig A
T g@ <for & R 8 9 @
UH—gER & (dcad Terdl 8 3R 7 &
ufts @ B 3ifdw BR ) o1 21 M,
SHPINWHAIAYIMND W A
WH W) 48T 81 S, 0 B &P q13 3AR

— AWLDTTBI T,V 3R U S a7Tel # a7 8
ag < &1 @ SR # AR 2| P, R
® 913 3R gEX ©F W 99T § U 3R
P, N & fA@cad vl 8l &8 Q 3R R

TS B e 9 ek S=E #
V 3R R & 99 fraa =afts 38 27

(a) 4 (b) 3
LS (d) 2



1,5,3,4,6,2
(c) 4,5,2,6,1,3

(b) 1,5,3,6,4,2
(d) 1,5,3,4,2,6

Arrange the following word in
logical and Meaningful order.

(1) Plouging up the field
(2) Bread making

(3) Production of wheat
(4) Wheat grinding

(5) Sowing the seeds

(6) Dough making

fr=foRea ol @1 arfde iR seigel w9
H aaferd o |

1) QT DY FaTg DT

2) S 9T Q
3) Mg &I IATEA ]{3"{
4) g draAT

5) €151 9191

6) ATST §AT



Statement : The committee has

criticised the institute for its
failure to implement a dozen of

regular programmes despite an
increase in the staff strength and
not drawing up a firm action plan
for studies and research.

Courses of action:

X (1) The broad objectives of the
institute should be redefined to

implement a practical action plan.

,/ﬂf The institute should gave a

rep@rt on reasons for not having
implemented the planed
programmes.



S GAfd 7 HHARAGl B G=ar A
gfg & drasE TP o Fafa srdsEl
B AR A A fA%erar 3R seage iR
I B oY U S B IS 78T
T P fog G & srereT @Y 2

[ — T P

1) AEeIRS B ISl DI AT HRA
3 forv SRmM & e SRl & R
¥ uRaf¥a fsar s =nfev |

2) §@I9 & Fafora srdsEl B
fopanfrad 1 o @ SR &1 faaor

o AfRe |
(a) only 1 follows ("
(b) either I or II

._,fsr only 2 follows

(d) neither I or Il



All six faces of a cube are coloured
with six different colours-black,
brown, green, red, white and blue.

(1) Red face is opposite to Black
face

(2) Green face is between red and
Black faces.

(3) Blue face is adjacent to white
face.

(4) Brown face is adjacent to blue
face

(5) Red face is in the bottom.

Which of following is adjacent to
green?



Uh 9 P YW YT BaAd Ys
AT FM—PTd, W, &, oI,
B¢ 3R et T7 | 4 €

1) el BT Pt AN D A 2

2) B UENT AT IR FIA TR D 914
2|

3) el A8 9B dex P [(de B |
4) X1 TENT el WX P e §
5) STel =&l a2 |

f=fofaa & 9 @19 91 &) ¥ @ Foc
27
a) Black, white, Brown, Red

(b) Blue, Black, Red, white
(c) Red, Black, Blue, white

(d) None of the above
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(c)

(d)

Which figure should replace the
question mark (?) if the following
series were to continue?

frferRed S@er @ 9Nl Y& @ forg
yeE-fag (7)) & ®F W - 9
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Eight people are sitting in two
parallel rows with 4 people each
in such a way that there is equal
distance between adjacent
persons. In Row 1-1, 2, 3 and 4
are seated and all of them are
facing south. In Row II-6, 7, 8 and
9 are seated and all of them are
facing north. 1 and 2 are not
seated at the extreme ends and 1
sits to the immediate left of 2. 9
and 7 sit opposite 1 and 2 and 7
sits exactly opposite 1. 7 is not
the immediate neighbour of 6.
Who sits at the extreme right
corner of Row II facing north?



S Afdd g7 FHHIOR ufdaal F IS
H 4 gfdd 39 dBR 99 & b 3ma=
fdedl & 99 999 g 8| ufdd 1 #H
— 1, 2, 3 3R 4 93 & 3R ST G4 &1
7@ TfRor @ &R 7| ufdm o 7 — 6,
7, 8 3R 9 §3 & 3R 97 W FT g@
9TR @I 3R 8] 1 3R 2 3ifd9 BR W)
T 93 & 3R 1,2 B P I8 AR 97
2193 7,132 o fAudlg &3 &
IR 7,1 & Sp (AT B 8| 7,6 o1
ffdpecay SR =@ 2| dufdd m &
dftm T I W I P IR q@
HYD P 90T 87

(a) 9 (b) 6 D

(c) 7 i) 8



TQ RP SV

(a) T
(c) P

(b) R
\_irs

Seven people, P, Q, R, S, T, U and
V, are sitting in a straight row,
facing the north. Only two people
sit to the right of U. Only two
people sit to the left of R. Only
two people sit between U and Q.
Only three people sit between R
and V. T is not an immediate

neighbour of U. {_gii{s to the right

of U. Who sjts fo the immediate
N e

right of U2

g Aafke P, Q, R, S, T, U 3R V
e 9k A STR §@ @ S8 B U
D AR IR AT AT ARG ST EI R D
913 3R HF & s 989 €1 U 3R
Q & =g HIF & &fth d98d 81 R 3R
Vo g A a9 &afts S8 81 T, U
DANF I AN T TS, UD
g0 99dT 8] U & JBId g5 3R D
dadr 8?7



If M denotes ‘-’, N denotes ‘+’, O
denotes ‘x’ and P denotes ‘+’, then
what will come in place of ‘?’ in
the following equation?

162N 6M /729 O 4P 126 =7

Ifc M &7 31ef <’ B, N &I 3] “+’ §, O
T I x> AR P BT T 4’ B A
Q-,?__QKU\'HZ'& Prefofed afiexe § 2 & ®™H W

T ITTIAT?
162N 6M 3/729 O 4P 126 = ?

AL 117 (b) 121 @
(c) 125 (d) 112



Select the set in which the
numbers are related in the same
way as are the numbers of the
given sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13-Operations on 13
such as adding /subtracting
/multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and
3 is not allowed.)

(18, 36, 60)
(14, 28, 44)



|gx 22— 362271
lyx2 — 28x2 1%

Y{a) (21, 42, 164)

~T6) (22, 44, 76)
M:) (16, 28, 64)

(d) (17, 32, 60)

SH W= BT O diforg, o
feu U W B E=W Uy H
G £ |

(Ae: &Rl & SHd "cd AP H
fomfora fee fa=r, gof d&ei «w®
o Gfhad @ ST Hddal B
S9SN © ol 13- 9§ 13 W
NIGIE Hfhamy o f&
ST / ESHT /O BT 3fe $I 13
R B far o 9&ar 81 13 91 1 3R
A s iR fR 1 3R 3 W
Tord Gl s @ ergHfa T8l
)

(18, 36, 60)

(14, 28, 44)



Select the figure from among the
given options that can replace the
question mark (?) in the following
series.

fau T el § | SH aHpfa &1
agq N, o f=fafied @ § g
e (?) &1 ®IF of 9@l 2




?;I'

There are six children playing
ludo, namely 1, 2, 3,4, Sand 6, 1
and 5 are brothers. 6 is the sister
of 5. 3 is the only son of 1’s
father’s brother. 2 and 4 are the
daughters of the only brother of
3’s father. How is 4 related to 17

B: 990 oiq 1, 2, 3, 4, 5 AR 6 TS
Baw el 13IRs59E 86 5T
g8 2
3,1 & far @ WiE &1 sHalar 4F 8
2 3R 4,3 B AT & FHad 4TS &
sfedi 81 4,1 9 59 yoR Heftra 87

(a) Cousin/ TORT /T g /T84

\,(h‘)gi.ster/ 98+

(c) Niece / HATol!
(d) Uncle/ 9Tdl



Select the set in which the
numbers are related in the same
way as are the numbers of the
given sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13-Operations on 13
such as adding /subtracting
/multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing

mathematical operations on 1 and
3 is not allowed.)

(16, 22, 28)
(14, 19, 23)



(6422 O
|y #19-10

(O3

<Y

N\

) (13, 21, 27)

SH 9Y=d P Tgq diferg, forH
&t 99l ueR et &, N yeR
fRy v wH=w @ =W U H
Gefdd £ |

([Are: SRl $f SHB UTH B A
fomfora fde oo, oof d@mi w®
Ty w@fpad S ST 9o 2
SNy 9 folU 13- §E@r 13 W
TR Hfhard o fan
STl / |l /7O &A1 3fe &l 13
WX B fHar &1 9Har 81 13 9 1 3R
3H fauiivig s iR iR 1 3R 3 W

TR Wiy

12,1529 2x B sl =81 8)

S, 26, 31) (16, 22, 28)
(d) (17, 24, 41) (14, 19, 23)



Select the figure from among the
given options that can replace the
question mark(?) in the following

series.

ey ¢ fReal § 4 9 smgfa @1
T &, o Frfafaa sjaer § g
e (?)@ W= o "Hal B |

A AT : \
o({al i S %;

& H

(b)




Me—n

City A is located to the North of
city B. City D is located to the
East of city B. City C is located to
the West of city D. City E is
located to the South of city C and
to the South- West of city A. What

is the position of city B with
respect to city C?

YEX A, IR B & SR ¥ Reg 2|
YER D, TEX B & U4 H Rerd 3| weR
C IEX D & uf¥aw # Rerg 81 9=} E,
YR C @ SR § 3R IR A &
gfeo—ulR=s § Reg 81 IR € @
Tl # 9eY B @ Rerfa «m 87

(a) West (b) South

(c) North \Jﬂéast



Which of the following number

will replace the question mark (?)
in the given series?

25, 29, 36, 49, 71, ?
fr=foiRea & 9 ot S @ TS
FGAT H YD fFE (P) dT W
e

25, 29, 36, 49, 71, ?

\/(41 105 (b) 103

(c) 106 (d) 108

®



Six students are sitting around a
circular table facing the centre.
Salman is an immediate
neighbour of both Kiran and
Shwetha. Bala is sitting second
right to Salman. Shwetha is
sitting third to the left of Bala.
Akshay is an immediate
neighbour of both Bala and
Nishitha. Who is the immediate

neighbour of Nishitha and
Salman?

B: femf 1o TR A9 & IR @R
B% DI AR TG T €0 & | T,
fvor R war A b1 fAdeaH
Terfl | 91, A B qW oW



WM ) 997 8| a1, 911 & a6 9
dRR 9 R 931 8| ey, 91 SR
AR Ff &1 Adcaw ver 2
AR 3R g™ &1 Mdeaq e
B 87

(a) Kiran (b) Akshay

/jerﬁlwetha (d) Bala




Which of the following numbers
will replace the question mark (?)

|0 2‘ 3( S6 70 "IS 2%) 3‘{111 the given series?
MM-/

21, 35, 56, 90, 145, 231, 360,

W Tw 1 3y 5§ %6 I k{3
— PR % ¥ P wem &

+ Yy S § mE fE () 3 WM W
ZEIETS -

\.( 5 g o |2 (410,21, 35, 56, 90, 145, 231, 360,
?

(a) 463 uaﬁ%

(c) 436 (d) 564



e If the given sheet is folded to
form a cube, which of the given
Ul a I 7 figures are possible? (The letters
are shown to indicate the sides

O only.)
g q T3 Wie @ AlgHR TH ©A

(Z/ 1T OraT &, ) g il H |
1% 0 % @ B O STPRY I G 7 (R B
\/A ﬁ f y H9d APl Bl AT B » forg faan
u_-—-)l \/éﬂyﬁtandc @
(b) Only B and C
ael (c) Only A, Cand D

e ~ Q) (d) Only C and D



Select the number from among

the given options that can replace
the question mark (?) in the

following series.
9, 7, 28, 26, 65, 63, 126, 124, ?

ffr 0 fecal § § S99 H& @7
a9 @ifore, ot fA=fofRag soft #

ye fUg(?) & I WR 3 gad © |
9, 7, 28, 26, 65, 63, 126, 124, ?

(a) 137 \_Jprif;-
(c) 136 (d) 215




oA

Seven friends A, B, C, D, E, F and
G are sitting facing the centre in
a circular position. F is sitting to
the immediate right of C. C is
sitting at the second position to
the right of G. E is sitting at the
third position to the right of A. B
is an immediate neighbour of both
D and E. Which of the following
statements is FALSE?

gd A3 A, B,C, D, E, F3R G &
gureR Rafd § &% 31 3R §9 P
B I F, C B TE IR 3Ih 9T A
d3T 81 C, G P T8 3R T WM W)
ST 2| E, A @ TS 3R R WH R
93T 21 B, D 3R E 3 @ d& el

# o1 g fA=forfRag & 9 99 w1
U T B7




(a) C is sitting at the third
position to the right of D

C, D & T3 3R TR WM W
doT 2|

(b) A is sitting to the immediate
left of C

A, C P 913 3R SId I H 0T
2

s sitting to the immediate

right of G

B, G ® TIg 3R SId I § 90T
g |

(d) E is sitting at the third

position to the left of G

E, G ® ¥ 3R R ®IF W 8§97
2|



Eight Friends are playing a game.
K. L. M, and N are sitting in a
straight line and are facing North.
O, P, Q and R are sitting on a
parallel line and are facing South.
Thus each of the persons sitting
in a line, faces another person
sitting in the parallel line. M faces
a person who has two people
sitting to his right. N is sitting
between M and K. Q faces K. O is
neither an immediate neighbour
of P nor Q. Who amongst the
following faces M?

I F AT VI REIK, L, M
IR N T e ufes & 93 & iR
ITHT @ SR DI IR '] 0, P, Q
3R R U GG dfts & 99




IR ISP & <RT B AR T A
YR TP Ufth H 93 AP ARb Pl
g GHHIOR Ufth § 90 39 &fth @l
IR Bl M & @ TS UH fh &l
AR B, Forad <13 3R & afth 83 B |
N MIAIRKDPTIWLEIQ, KD
HFH 8T 21 0, P 3R Q & 89 71a

H A8 BT 21 799 9 D M B 9
a1 87

\ AR ®O

(c) P (d) Q



Raj, Vikram, Amit, Amar and

Shivani are five friends. Raj.
Vikram and Amit are intelligent.
Raj, Amar and Shivani are hard
working. Amar, Amit and Shivani
are teachers. Raj. Vikram and
Shivani are scholars. Who among

the given friends is neither

kardworking nor g scholar?

= g1 e, fawa ol afta gfga=
g W9, IR 3R RaEr sHdafis g
IR, AT ik R Rre & v,
faw @ik R fagm &1 R v
i & 4 o9 9 O fas 8, ik T
8 fagr 87

(a) Vikram ) (b) Raj w
(c) Shivani )¢  Cd) Amit



M| VL 94

In a certain code language,

‘find my car’ is coded as ‘mi co

Jih’

2
‘black vintage car’ is coded as ‘co
ne ve’,

o

‘find black house’ is coded as ‘ne
Jh sa’. -

(Note: All codes are two letter
codes only)

What could be the code for ‘my
vintage house’ in the given code
languae?

Us f¥ad @ 9T § ‘find my car’
@I ‘mi co kh’ for@r &rar 8, ‘black
vintage car’ @l ‘co ne ve’ for@r



1G]] 'é ‘find black house’ @I ‘ne
kh sa’ forar oar 21 (\Aie: ¥t ¢
Y A &l 3R I HeIR )

94! hC HMEI 4 ‘my vintage house’
P! f&q yor for@r o1 w&ar 87

(a) ve kh ne (b) mi ne co

(c) kh co sa




Eight people F, G. N, O, S, T, Y
and Z are sitting in a straight line.
All of them are facing the North. F
sits second from one of the
extreme ends of the line. Only
three people sit between F and G.
N sits second to the right of G. As
many people sit to the right of N
as to the left of O. Only two
F people sit between O and S. Y sits
S 4 O N at one of the positions to the left
of S. T sits at one of the positions
to the right of Z. How many
people sit to the left of Z?

IBARPF, G. N, O, S, T, Y3IR Z

s o s § R & |4
O Fy qu TN gwaﬁmélplﬁg$£
-—_—-——"‘: U RN ¥ g ®IF W) 99T 8| F 3R



G 49 dagd d9 ARP 4 2| N, G
PIEIAINTN T RIBTEIND
8 IR foaw @afs 98 € Saw &
AP O DTS ARISE|I OIS B
9 B QT IRD SS B Y, S B qT%
IR PN TF WA RITEIT, 2D
e IR frdl Th WH W) Y91 B Z
® 913 3R fbam aafh 98 €7

(a) Three \/('B(Four

(c) None (d) Two



A, B, C, D, E, F, G and H are
sitting around a square table
facing the centre of the table.
Four of them are sitting at each
of the corners, while the other
four are sitting at the exact
center of each of the sides.

G sits at one of the corners of the
table. E sits second to the left of
G. F is not an immediate
neighbour of
E. Only three people sit between F
and H. B sits to the immediate
left of H. A sits third to the right

of C. Who sits third to the right of
D?
A, B,C,D,E,F, G3IRHT®

TR A B IRl AR WA D D DI
IR IF PP 93 8| 99 9 IR FHD
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